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QUANTITY SURVEYING  AND COSTING  – II

Time : Three Hours Maximum Marks : 100

Note : i) Attempt any five questions.

H$moB© nm±M àíZ hb H$s{OE&

ii) In case  of any doubt or dispute, the English version question

should be treated as final.

{H$gr ^r àH$ma Ho$ g§Xoh AWdm {ddmX H$s pñW{V ‘| A§J«oOr ^mfm Ho$
àíZ H$mo A§{V‘ ‘mZm Om¶oJm&

1. a) What do you mean by valuation of any property? 3

{H$gr g§n{Îm Ho$ ‘yyë¶m§H$Z go Amn ³¶m g‘PVo h¢?
b) Differentiate scrap value and salvage value. 3

‘b~m ‘yë¶ VWm H$~m‹S> ‘yë¶ ‘§o A§Va ~VmB¶o&

c) What is depreciation? Write the names of methods of determining
depreciation. 6

‘yë¶ èhmg ³¶m h¡? ‘yë¶ èhmg kmV H$aZo H$s {d{Y¶m| Ho$ Zm‘ {b{I¶o&

d) A building is situated by the side of a main road of Rameshwaram
city on a land of 500 sqm. The built up portion is 20m × 15m.
The building is first class type and provided with water supply,
sanitary and electric fittings. The age of building is 50 years. Work
out the valuation of property. Assume current market rates. 8

500 dJ© ‘r. ŷ{‘ na am‘oída‘ eha Ho$ ‘w»¶ ‘mJ© Ho$ {H$Zmao EH$ ^dZ
pñWV h¡& {Z{‘©V {hñgm 20 ‘r. × 15 ‘r. h¡& ^dZ àW‘ loUr àH$ma H$m
h¡ VWm Ob àXm¶, ñdÀN>Vm Ed§ {dÚwV {’${Q>§J Xr JB© h¡& ^dZ H$s Am¶w
50 df© h¡& g§n{Îm H$m ‘yë¶m§H$Z H$s{O¶o& Mmby ~mOma Xa| ‘mZ br{O¶o&
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2. a) What do you mean by sinking fund? 3

emoYZ {Z{Y go Amn ³¶m g‘PVo h¢?

b) Differentiate free hold and lease hold property. 3

nyU© ñdm{‘Ëd ¶w³V VWm nÅ>mYmar g§n{Îm ‘| A§Va ~VmB¶o&

c) Enlist the methods of valuation. 6

‘yë¶m§H$Z H$s {d{Y¶m| H$mo gyMr~Õ H$s{O¶o&

d) A hall costing Rs. 800000/- is constructed on free hold land of
100 sqm in a big city. The rate of land in neighbourhood is
Rs. 2000/- sqm. If the rate of all possible expenditure including
sinking fund is Rs. 7200/ year, then determine the net rent of
property. Also determine the total monthly rate of property. The
rate of interest may be taken 8%. 8

EH$ ~‹S>o ZJa ‘| l00 dJ© ‘r. H$s nyU© ñdm{‘Ëd ¶w³V ŷ{‘ na EH$ ^dZ
ê$. 800000/- H$s bmJV H$m hmb ~Zm¶m h¡& n‹S>mog Ho$ joÌ ‘o ŷ{‘ H$s
àM{bV Xa ê$. 2000/- dJ© ‘r h¡& ¶{X emoYZ {Z{Y g{hV g^r g§̂ m{dV
ì¶¶ ê$. 7200/ df© H$s Xa go hmo Vmo g§n{Îm H$m ewÕ {H$am¶m kmV H$s{O¶o&
g§n{Îm H$m Hw$b ‘m{gH$ {H$am¶m ^r kmV H$s{O¶o& ã¶mO H$s Xa 8% br Om
gH$Vr h¡&

3. A room 4m × 3m (internal dimension) with 30cm thick brick wall is
provided with 10cm thick R.C.C. slab having full bearing on the walls.
Main reinforcement consists of 10mmφ @ 10cm c/c and distribution
bars are 6mmφ @ 30cm c/c. Take end and side cover 4cm and top
and bottom cover 1.5cm. The alternate bars are bent up at one fifth of
span on 45° at both ends.

a) Calculate false work. 3

b) Calculate quantity of cement concrete. 3

c) Calculate number of bars, length of bars and total weight of steel
required. 8

d) Prepare bar bending schedule. 6

Contd.....
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EH$ H$‘am 4 ‘r. × 3 ‘r. (Am§V[aH$ ‘mn) H$s Xrdmbo 30 go‘r. ‘moQ>r BªQ>m| H$s
h¡, VWm 10 go‘r. ‘moQ>r à~{bV gr‘oÝQ> H$m§H«$sQ> H$s ñbo~ Xrdmbm| na nyar aIr
h¡& ‘w»¶ à~bZ 10 {‘‘r. ì¶mg H$m 10 go‘r. Ho$/Ho$ VWm {dVaU N>‹S>o 6 {‘‘r.
ì¶mg H$s 30 go‘r. Ho$/Ho$ h¡& N>moa VWm ~mOy H$da 4 go‘r. Ed§ D$nar VWm
{ZMbm H$da 1.5 go‘r. bo EH$m§Va N>‹S>o XmoZm| {gam| na 45° Ho$ H$moU na nmQ> Ho$
nm±Mdo ^mJ na ‘w‹‹S>r h¡&

A) ’$mëg dH©$ H$s JUZm H$s{O¶o&

~) gr‘oÝQ> H$m§H«$sQ> H$s ‘mÌm H$s JUZm H$s{O¶o&

g) BñnmV N>‹S>m| H$s g§»¶m, b§~mB© VWm Hw$b ^ma H$s JUZm H$s{O¶o&

X) ~ma ~|qS>J eoS>çyb ~ZmB¶o&

4. a) Write the percentage of steel quantity taken in absence of detailed
design for preparing estimate of following. 3
i) Slab
ii) Beam
iii) Column

{dñV¥V A{^H$ënZ Ho$ Z hmoZo na {ZåZ{b{IV Ho$ àm³H$bZ V¡¶ma H$aZo
Ho$ {b¶o BñnmV H$s à{VeV ‘mÌm {b{I¶o&

i) ñbo~ (N>V)

ii) YaZ

iii) ñVå^
b) Write the extra length of bars in R.C.C. work for beams, slabs

for following. 3
i) 45° bent
ii) 30° bent
iii) Overlap

YaZ VWm ñbo~ (N>V) Ho$ à~{bV gr‘|Q> H$m§H«$sQ> H$m¶© ‘| {ZåZ{b{IV Ho$
{b¶o N>‹S>m| H$s A{V[a³V b§~mB© {b{I¶o&

i) 45° ‘mo‹S>

ii) 30° ‘mo‹S>

iii) Omo‹S> (Amoda bon)
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c) What do you mean by following? 6
i) Capitalized value
ii) Years purchase
iii) Obsolescence
{ZåZ{b{IV go Amn ³¶m g‘PVo h¢?
i) ny±OrH¥$V ‘yë¶
ii) dfm©Yma
iii) bwáàm¶Vm

d) Calculate the quantities of cement, sand, coarse aggregate and
stones for construction of a pier of a small bridge. The quantities
of items are given as under 8
Cement concrete 1:3:6 in foundation = 10 cum
Coarse rubble masonry in cm 1:5 = 50 cum
EH$ bKw goVy (nwb) Ho$ EH$  àñVå^ {Z‘m©U Ho$ {b¶o gr‘oÝQ>, aoV, {JÅ>r
VWm nËWa H$s ‘mÌm H$s JUZm H$s{O¶o& ‘X H$s ‘mÌm ZrMo {X¶o AZwgma
h¡&
Ztd ‘| 1:3:6 gr‘oÝQ> H$m§H«$sQ> = 10 KZ ‘r.
gr‘|Q> ‘gmbo 1:5 ‘| aÔoXma T>moH$m {MZmB© = 50 KZ ‘r.

5. A septic tank is 3m long, 2m wide and 2m deep inside. Base concrete
1:3:6, 15cm thick has concrete projection 10cm allround. Wall
thickness 30cm in bricks. Calculate the quantity of the following items
of works.
a) Earthwork in excavation 3
b) Cement concrete 1:3:6 in base. 3
c) Brick masonry work in walls. 6
d) 12mm thick inside plaster in cm 1:3. 8
EH$ gopßQ>H$ Q>|H$ A§Xa go 3 ‘r. b§~m, 2 ‘r. Mm¡‹S>m VWm 2 ‘r. Jham h¡& ~og H$m§H«$sQ>
1:3:6 {‘lU ‘§o 15 go‘r. ‘moQ>r h¡ VWm g^r Va’$ 10 go‘r. ~mha {ZH$br h¡& BªQ>
H$s Xrdma 30 go‘r. ‘moQ>r h¡& {ZåZ{b{IV ‘Xm| H$s ‘mÌm H$s JUZm H$s{O¶o&
A) ‘¥Xm H$m¶© ‘| IwXmB©
~) AmYma (~og) ‘| 1:3:6 gr‘|Q> H$m§H«$sQ>
g) Xrdmbm| ‘| BªQ> {MZmB© H$m¶©

X) gr‘|Q> ‘gmbo 1:3 ‘| 12 {‘‘r. ‘moQ>m Am§V[aH$ nb:ñVa
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6. The details of a king post truss with gable ends for a hall of 12m × 6m
are as under
i) Clear span - 6m
ii) Size of hall - 12m × 6m
iii) Principal rafter - 12cm × 10cm - 3.5m long
iv) Tie beam - 12cm × 10cm - 6.6m long
v) King post - 10cm × 10cm - 1.8m long
vi) Strut - 10cm × 10cm - 1.56m long
vii) Purlin - 12cm × 8cm
viii) Wall plate - 10cm × 8cm
ix) Common rafter - 10cm × 6cm - 4.10m long 80cm c/c
x) Spacing of truss - 2m c/c
xi) Wall thickness - 30cm
a) Decide the number of members required for one truss. 3
b) Decide the number of trusses and length of members which is

not given. 3
c) Calculate total wood work. 6
d) Calculate total painting work. 8

EH$ hmb 12 ‘r. × 6 ‘r. Ho$ {b¶o EH$ qH$J nmoñQ> Q´>g (Jo~b E§S> Ho$ gmW) Ho$
{b¶o {ddaU {ZåZmZwgma h¡&

i) ñnï> nmQ> - 6 ‘r.

ii) hmb H$m AmH$ma - 12 ‘r. × 6 ‘r.

iii) ‘w»¶ amâQ>a - 12 go‘r. × 10 go‘r. - 3.5 ‘r. b§~mB©

iv) Q>mB© YaZ - 12 go‘r. × 10 go‘r. - 6.6 ‘r. b§~mB©

v) qH$J nmoñQ> - 10 go‘r. × 10 go‘r. - 1.8 ‘r. b§~mB©

vi) ñQ´>Q> - 10 go‘r. × 10 go‘r. - 1.56 ‘r. b§~mB©

vii) na{bZ - 12 go‘r. × 8 go‘r.

viii) dmb ßboQ> - 10 go‘r. × 8 go‘r.

ix) H$m°‘Z amâQ>a - 10 go‘r. × 6 go‘r.  - 4.10 ‘r. b§~mB© 80 go‘r. Ho$/Ho$

x) H¢${M¶m| ‘§o Xÿar - 2 ‘r. Ho$/Ho$

xi) Xrdma H$s ‘moQ>mB© - 30 go‘r.
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A) EH$ H¢$Mr (Q´>g) Ho$ {b¶o Ad¶dm| H$s g§»¶m {ZpíMV H$s{O¶o&

~) H¢${M¶m| H$s g§»¶m VWm Ad¶dm| H$s b§~mB© ({OZH$s Zht Xr h¡) {ZpíMV
H$s{O¶o&

g) Hw$b H$mð> H$m¶© H$s JUZm H$s{O¶o&

X) Hw$b n|qQ>J H$m¶© H$s JUZm H$s{O¶o&

7. Calculate the quantity of steel work in the following items for a steel
stanchion (figure enclosed)
a) Column rolled steel @ 58.8 kg/m. 4
b) Base plate 20mm thick @ 157.0 kg/m2. 4
c) Gusset plate top 12mm, as rectangle @ 94.2 kg/m2. 5
d) Angle iron cleats 150 × 115 × 15mm @ 29.5 kg/m. 7

EH$ BñnmV ñQ>oÝeZ Ho$ {ZåZ{b{IV ‘Xm| Ho$ {b¶o BñnmV H$m¶© H$s JUZm
H$s{O¶o& ({MÌ g§b½Z)

A) H$mb‘ amoëS> ñQ>rb @ 58.8 {H$J«m/‘r.

~) ~og ßboQ> 20 {‘‘r. ‘moQ>r @ 157.0 {H$J«m/dJ© ‘r.

g) JgoQ> ßboQ> Q>m°n 12 {‘‘r., Am¶V ê$n ‘| @ 94.2 {H$J«m./dJ© ‘r.

X) E§Jb Am¶aZ ³brQ>o 150 × 115 × 15 {‘‘r. @ 29.5 {H$J«m./‘r.

8. Calculate quantities of following items for a R.C.C slab culvert
(figure enclosed.)
a) Earth work in excavation in foundation. 4
b) Cement concrete 1:3:6 in foundation. 4
c) First class brick work in cm 1:4. 12

EH$ à~{bV gr‘oÝQ> H$m§H«$sQ> ñbo~ nw{b¶m Ho$ {ZåZ{b{IV ‘Xm| Ho$ {b¶o ‘mÌm
H$s JUZm H$s{O¶o&

({MÌ g§b½Z)

A) Ztd IwXmB© ‘| ‘¥Xm H$m¶©

~) Ztd ‘| 1:3:6 H$s gr‘oÝQ> H$m§H«$sQ>

g) 1:4 gr‘oÝQ> ‘gmbo ‘§o àW‘ loUr BªQ> H$m¶©
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Figure for Q.No. 7
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Figure for Q.No. 8
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